Kinetic Energy problems

1.) A diver has 2560J of kinetic energy when he enters the water.  He enters the water at a speed of 8m/s.  What is the diver's mass?

2.) A diver of mass 65kg has 3250J of kinetic energy when he enters the water.  What speed does the diver enter the water?

3.) Find the kinetic energy of a 350kg motorcycle and rider travelling at 12m/s.

4.) A water bomb is travelling at a speed of 10 m/s and has a kinetic energy of 12.5 J.  What is the mass of the water bomb?

5.) A formula 1 car of mass 640kg has 968kJ of kinetic energy.  What speed is it travelling?

6.) A water droplet has a mass of 300mg (0.0003kg ).  What speed is it travelling if it has a kinetic energy of 0.0096J?
Extension:

7.) Find the work done on a 58g tennis ball when it is hit with a racket, exerting a force of 100N for a distance of 15cm.  Assume the ball is stationary when it is hit, and that the work done is equal to the kinetic energy gained by the ball.  Calculate the new velocity of the ball.
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